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The Present Tense Emphatic Verb

Among the particles of emphasis (28U <a’sal) is ‘o or &Y. “AL&l o sV (&) denotes

more emphasis and can attach to all Seeghas, but ‘¢ (4443) cannot attach to the

duals or feminine plurals.

Table 6.6 - Present Tense Verb With Heavy Noon Of Emphasis
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Table 6.10 - Present Tense Weak Verb With Emphatic Noon: =
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Chapter Seven
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Section One
The Artificial Verb (stall Jaill)
The artificial verb is either derived from a noun or a sentence. If it is taken from a

substantive noun, the verb must comprise all of the original letters of the noun.

Examples:



Table 7.1 - A List Of Artificial Verbs
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To be morning E.,.a

To be evening (gonns) Els

To adopt a son (o) 501

To grow a gland _;_,;

To be desolate J...: mJ_%

To put on a coat of mail ¢ s
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